# Measure on the Real Line $E^1$

By

Kim, Sungwon



Supervised By

Associate Prof. Han, Chulsoon

June, 1982

# Measure on the Real Line $E^1$





# 濟州大學校 教育大學院 數學教育專攻

- 提出者 金 成 原
- 指導教授 韓 哲 淳

1982年 6月 日

# 金成原의 碩士學位 論文을 認准함



1982年 6月 日



# 1982년 6월 일

김 성 원

# CONTENTS

1.	INTRODUCTION	1
2.	PRELIMINARY	2
3.	PROPERTIES OF MEASURE ON E <sup>1</sup>	7
4.	REFERENCES 제주대학교 중앙도서관	13

# 국 문 초 록

# 수직선 - 차 공간에서의 측도

- 제주대학교 교육대학원
- 수 학 교 육 전 공



이 논문은 수직선 E'에서 length를 도입하여 일반적인 measure의 개념을 만족시키는 것을 보이고 length는 o-algebra상에서 정의된 measure의 성질을 만족시키는 것을 증명하였다.

,

# 1. INTRODUCTION

In this paper, We shall study the measure on the real line  $E^{1}$ . On the other hand, we use the properties of measure to get an exact knowelege of length on the real line. Finally, we shall show that the length on the real line  $E^{1}$  is certainly a measure on  $E^{1}$ .

We begin by defining a measure on  $\sigma$ -algebra X of subsets of X. 제주대학교 중앙도서관 JEDU NATIONAL UNIVERSITY LIBRARY

### 2. PRELIMINARY

#### **DEFINITION** 2-1

A collection **X** of subsets of a set X is a  $\sigma$ -algebra(or a  $\sigma$ -field) if and only if 1)  $\phi$ , X  $\in$  **X** 2) if A $\in$ **X**, then A<sup>c</sup> = X-A $\in$ **X** 3) if {A<sub>n</sub>} is a sequence of sets in **X** then  $\bigcup_{n=1}^{\infty} A_n \in \mathbf{X}$ . An ordered pair (X, **X**), or simply, X is called a measurable space and any set in **X** is a **X**-measurable set. It follows from definition 2-1 that E<sup>1</sup>, the set of all real numbers, is a measurable space.

#### **PROPOSITION** 2-1

Let A be a nonempty collection of subset of X.

Then there exists a smallest  $\sigma$ -algebra of subsets of X containing A.

**PROOF** Recall that the collection of all subsets of X is a  $\sigma$ -algebra and contains A. Let  $\mathfrak{M} = \bigcap \{\mathfrak{F}: \mathfrak{F} \text{ is a } \sigma$ -algebra containing A}. Then  $A \subset \mathfrak{M}$ . It follows from definition 2-1 that  $\mathfrak{M}$  is a  $\sigma$ -algebra, and hence  $\mathfrak{M}$  is the smallest  $\sigma$ -algebra. This smallest  $\sigma$ -algebra is often called the  $\sigma$ -algebra generated by A.

#### **DEFINITION 2-2**

The Borel algebra is the  $\sigma$ - algebra B generated by all segments in E<sup>1</sup>. we say that any set in B is called a Borel set.

#### **DEFINITION** 2-3

A measure is an extended real-valued function  $\mu$  defined on a

 $\sigma$ -algebra  $\mathbf{X}$  of subsets of X such that

1)  $\mu(\phi) = 0$ 

2)  $\mu(E) \ge 0$  for all  $E \in \mathbf{X}$ 

3)  $\mu$  is countably additive in the sense that if  $\{E_n\}$  is any disjoint sequence of sets in **X**, then  $\mu(\bigcup_{n=1}^{\infty} E_n) = \sum_{n=1}^{\infty} \mu(E_n)$ . It follows from definition 2-3 that the characteristic function of a nonempty set X is a measure on a  $\sigma$ -algebra **X** of subsets of X.

#### **PROPOSITION 2-2**

If G is open, then there exists a unique countable collection S(G) of segments(a,b) so that the members of S(G) are mutually disjoint and  $\bigcup S(G) = G$ .

**PROOF** Let G be an open set in R. Since each point  $x \in G$  is contained in a segment which is contained in G, for  $x \in G$ . Let  $I_x$  be the maximal segment containing x which is in G: that is,  $I_x$  is the union of all segments which contain x and which are in G.

-3-

If x,  $x' \in G$  and  $x \neq x'$ , then either  $I_x \cap I_x' = \phi$  or  $I_x = I_{x'}$ . Since if  $I_x \cap I_{x'} \neq \phi$ ,  $I_x \cup I_{x'}$  is a segment containing x and x' and so by the maximality of  $I_x$  and  $I_{x'}$ ,  $I_x = I_{x'}$ . Clearly  $G = \bigcup_{x \in G} I_x$  because if  $x \in G$ ,  $I_x \subset G$ , then  $\bigcup_{x \in G} I_x \subset G$  and if  $x \in G$ , then  $x \in I_x$ ,  $x \in \bigcup_{x \in G} I_x$  and  $G \subseteq \bigcup_{x \in G} I_x$ . Since each  $I_x$  contains a rational number, the number of distinct  $I_x$ 's must be countable, since the set of rationals is countable.

We use proposition 2-2 to define the length of an open set in E<sup>1</sup> DEFINITION 24 제주대학교 중앙도서관

If G is open on the real line  $E^{I}$ , then the length of G, denoted by |G|, is defined by  $|G| = \sum_{S \in S(G)} |S|$ , where S(G) is the set of all mutually disjoint segments such that  $G = \bigcup S(G)$ . If S=(a,b), then |S|=|b-a|. If  $S = (a, \boldsymbol{\omega})$  or  $(-\boldsymbol{\omega}, a)$ , then  $|S| = \boldsymbol{\omega}$ If  $S = \phi$ , then we define  $|S| = |\phi| = 0$ .

#### **PROPOSITION 2-3**

Suppose each of  $M_1$ ,  $M_2$  ..... is open,

then  $\left| \begin{array}{c} \widetilde{U} \\ j = 1 \end{array} \right| M_j \left| \leqslant \begin{array}{c} \sum_{j=1}^{\infty} \\ j = 1 \end{array} \right| M_j \left| \right|.$ **PROOF** For each  $M_i$ , there exists a unique collection  $\{s_{ij}\}$  of mutually disjoint segments such that  $\left| \mathbf{M}_{j} \right| = \left| \sum_{j=1}^{\infty} |s_{jj}|$ , -4by proposition 2-2 and definition 2-4.

Let S denote the collection of all segments  $s_{ij}$ , then  $\sum_{i=1}^{\infty} \left| \mathbf{M}_{j} \right| = \sum_{i=1}^{\infty} \left( \sum_{j=1}^{\infty} \left| s_{ij} \right| \right) = \sum_{i,j=1}^{\infty} \left| s_{ij} \right|.$ Since each  $M_j$  is open, then  $\bigcup_{i=1}^{n} M_j$  is open. Let  $T = \{t_1, t_2, \dots\}$  denote the collection of mutually disjoint segments such that  $\begin{vmatrix} \vec{U} \\ i=1 \end{vmatrix} M_i = \sum_{j=1}^{\infty} |t_j|$  and  $\vec{U} = M_i = \bigcup_{i=1}^{\infty} |t_i|$ , then  $\bigcup_{i=1}^{\infty} M_i = \bigcup_{i=1}^{\infty} |t_i| = \bigcup_{i=1}^{\infty} |s_{ij}|$  We claim that for each i,  $t_j$  is the union of a subcollection of S. Suppose there exists a positive integer i such that if S' is a subcollection of S, then  $t_i$  is not the union of segments of S'. Suppose futher there exists no subcollection S' of S which contains  $t_{i}$ . Then t<sub>j</sub> contains a point of  $\bigcup_{i=1}^{\infty} M_j$  but not in  $\bigcup_{i=j=1}^{\infty} s_{ij}$ , a contradiction. Hence there exists a subcollection S' of S with the following properties. 1) every segment in S which intersects  $t_j$  is in S'. 2) every segment in S' contains  $t_i$ 3) if  $S' = \{s'_i, s'_2, \dots, \}$ , then  $\bigcup_{i=1}^{\infty} s'_i$  contains  $t_i$ . Suppose  $\bigcup_{m=1}^{\infty} s'_n - t_j \neq \phi$ . Let p be an endpoint of  $t_j$ , then there exists a  $j \in \mathbb{N}$ such that  $p \in t_j$  so  $t_j$  intersects  $t_j$ , a contradiction.

Therefore,  $t_j$  is the union of subcollection of S. For each  $j \in \mathbb{N}$ , let  $\mathbb{V}_j = \{\dot{\mathbf{v}}_{i,i}, \mathbf{v}_{i,i}, \dots\}$  denote the subcollection of S which intersects  $t_j$ , then  $t_j = \bigcup_{j=1}^{\infty} \mathbf{v}_{jj}$ . Also, if V is the set of all  $\mathbf{v}_{jj}$ , then V=S: that is, V is a rearrangement of S. Hence  $\sum_{i,j=1}^{\infty} |s_{ij}| = \sum_{i,j=1}^{\infty} |v_{ij}|$ , and  $\bigcup_{i:j=1}^{\infty} \mathbf{v}_{ij} = \bigcup_{i:j=1}^{\infty} s_{ij} = \bigcup_{j=1}^{\infty} t_j$ . Thus if  $\mathbb{V}_j$  contains only one element  $\mathbf{v}_{j1}$ , then  $|t_j| = |v_{ij}|$ and if  $\mathbb{V}_j$  contains more than one element, then  $|t_i| \leq |\sum_{j=1}^{\infty} |v_{ij}|$ . Hence  $|\bigcup_{j=1}^{\infty} M_j| = \sum_{i=1}^{\infty} |t_i| \leq |\sum_{i,j=1}^{\infty} |v_{ij}| = \sum_{i,j=1}^{\infty} |s_{ij}| = \sum_{i=1}^{\infty} |M_i|$ .

# 3. Properties of measure on E<sup>1</sup>

#### **DEFINITION 3-1**

Suppose  $M \subset E^1_{{\boldsymbol{\cdot}}}$  . M has length means for each  $\varepsilon > 0$  ,

there are open sets G, and G<sub>2</sub> such that  $M \subset G_1$  and  $G_1 - M \subset G_2$ and  $|G_2| < \varepsilon$ .

#### **DEFINITION 3-2**

If M has length, then we defined the length of M by

 $|M| = glb \{ |G| : G \text{ is open and } M \subset G \}.$ 

It follows from definition 2-4 that if G is open, then G has length and the definition 3-1 and 3-2 for |G| coincide. **PROPOSITION** 3-1

If each of  $M_i$ ,  $M_2$ , ..... has length, then so does  $\bigcup_{i=1}^{\infty} M_i$ . **PROOF** Since each  $M_i$  has length, so by definition 3-1 for a given  $\varepsilon$ , there exists open  $G_i$ ,  $H_i$  such that  $M_i \subseteq G_i$  and  $G_i = M_i \subseteq H_i$  and  $|H_i| < \varepsilon/2^i$ . Now,  $\bigcup_{i=1}^{\infty} M_i \subseteq \bigcup_{i=1}^{\infty} G_i$  and  $\bigcup_{i=1}^{\infty} G_i = \bigcup_{i=1}^{\infty} M_i = \bigcup_{i=1}^{\infty} (G_i = \bigcup_{i=1}^{\infty} M_i) \subseteq \bigcup_{i=1}^{\infty} (G_i = M_i) \subseteq \bigcup_{i=1}^{\infty} H_i$ . It follows from proposition 2-3 that  $|\bigcup_{i=1}^{\infty} H_i| \le \sum_{i=1}^{\infty} |H_i|$  $\leq \sum_{i=1}^{\infty} \varepsilon/2^i = \varepsilon$ .

Therefore  $\int_{i=1}^{\infty} M_i$  has length.

#### **PROPOSITION 3-2**

If G is open and  $\varepsilon > 0$ , there exists a closed set  $F \subseteq G$  such that  $|G - F| < \varepsilon$ .

- **PROOF** It follows from definition 2-4 that  $|G| = \sum_{i=1}^{\infty} |s_i|$ ,  $s_i \cap s_j \neq \emptyset$ ,  $i \neq j$ , and each  $s_i$  is a segment.
  - Let  $\varepsilon > 0$  be given, there exists a  $m \in \mathbb{N}$  such that

 $n \gg m \Rightarrow |s_n| < \varepsilon_{2n+2} \text{ for each } k \le m, \text{ choose } F_k = [a_k + \varepsilon_{2k+2}, b_k - \varepsilon_{2k+2}],$ 

and let  $F = \bigcup_{k=1}^{\infty} F_k$ , then F is closed and  $F \subseteq G$ . Futhermore,  $|G - F| \leq \frac{\varepsilon}{2^2} + \frac{\varepsilon}{2^3} + \dots = \frac{\varepsilon}{3} < \varepsilon$ .

#### **PROPOSITION 3-3**

If M has length, then R-M has length.

**PROOF** Since M has length, so choose open sets  $G_n$  such that  $M \subseteq G_n$ ,  $|G_n - M| < \frac{1}{n}$ . It follows from proposition 3-2 that each  $G_n^c$  has length. Let  $H = \bigcup_{n=1}^{\infty} G_n^c$ , then H has length, and  $H \subseteq M^c$ . Let  $M^c = H \cup Z$ , where  $Z = M^c - H$ . Then  $Z = M^c - H = M^c - \bigcup_{n=1}^{\infty} G_n^c = \bigcap_{n=1}^{\infty} (M^c - G_n^c) = \bigcap_{n=1}^{\infty} (M^c \cap G_n)$  $= \bigcap_{n=1}^{\infty} (G_n - M) \subseteq G_n - M$  so that  $|Z| \leq |G_n - M| < \frac{1}{n}$ , for every n.

Hence |Z| = 0 and Z has length.

Hence  $M^{C} = H U Z$  has length by the proposition 3-1.

### **PROPOSITION 3-4**

If M and N are disjoint sets each having length,

then  $|\mathbf{M} \cup \mathbf{N}| = |\mathbf{M}| + |\mathbf{N}|$ . More generally, if  $\mathbf{M}_{I}$ ,  $\mathbf{M}_{2}$  ..... is a sequence of disjoint sets each having length, then  $\begin{vmatrix} \tilde{\mathbf{U}} & \mathbf{M}_{j} \\ i = 1 \end{vmatrix}$ ,  $\begin{vmatrix} \tilde{\mathbf{M}}_{j} \end{vmatrix}$ ,  $= \sum_{i=1}^{\infty} |\mathbf{M}_{i}|$ .

**PROOF** It follows from proposition 3-1 that  $M_1 \cup M_2$  has length. For each  $\varepsilon > 0$ , choose open sets  $G_1$ ,  $G_2$  such that  $M_1 \subset G_1$ ,  $M_2 \subset G_2$  and  $G_1 \leqslant |M_1| + \varepsilon_2$ ,  $|G_2| \leqslant |M_2| + \varepsilon_2$  $|\mathbf{M}_1 \cup \mathbf{M}_2| \leq |\mathbf{G}_1 \cup \mathbf{G}_2| \leq |\mathbf{G}_1| + |\mathbf{G}_2| \leq |\mathbf{M}_1| + \varepsilon_2 + |\mathbf{M}_2| + \varepsilon_2$  $= |\mathbf{M}_1| + |\mathbf{M}_2| + \varepsilon$ Hence  $|M_1 \cup M_2| \leq |M_1| + |M_2|$ Next, we want to show that  $M_1 \cup M_2 > M_1 + M_2$ For each  $\varepsilon > 0$ , choose an open set G such that  $\mathbf{M}_1 \cup \mathbf{M}_2 \subset \mathbf{G}$  and  $\mathbf{G} \leq \mathbf{M}_1 \cup \mathbf{M}_2 + \varepsilon$ . Write  $\mathbf{G} = \bigcup_{k=1}^{\infty} \mathbf{I}_k$ , where  $I'_k$ s are muntually disjoint segments. Then  $\sum_{k=1}^{\infty} |\mathbf{I}_k| \leq |\mathbf{M}_1 \cup \mathbf{M}_2| + \varepsilon$ , let  $\mathbf{N}_1 = \{\mathbf{n} \in \mathbf{N} \mid \mathbf{I}_n \cap \mathbf{M}_1 \neq \phi\}$ and  $N_2 = \{ m \in \mathbb{N} \mid I_m \cap M_2 \neq \phi \}$  then  $|M_1| + |M_2| \leq \sum_{n \in \mathbb{N}_+} |I_n|$  $+\sum_{m \in \mathbb{N}_{*}} \left| \mathbf{I}_{m} \right| \leq \sum_{k \in \mathbb{N}_{*}} \left| \mathbf{I}_{k} \right| \leq \left| \mathbf{M}_{2} \cup \mathbf{M}_{2} \right| + \varepsilon, \text{ so} \left| \mathbf{M}_{1} \right| + \left| \mathbf{M}_{2} \right| \leq \left| \mathbf{M}_{1} \cup \mathbf{M}_{2} \right|.$ Therefore  $|\mathbf{M}_1 \cup \mathbf{M}_2| = |\mathbf{M}_1| + |\mathbf{M}_2|$ , provided that  $M_1 \cap M_2 = \phi$  each having length. Proceeding by induction on n, we have  $\left| \begin{array}{c} \tilde{U} \\ i=1 \end{array} \right| = \sum_{i=1}^{\infty} \left| \begin{array}{c} M_i \\ i \end{array} \right|$ , if each  $M_i$  has length and they are mutually disjoint. Consequently, it follows from definition 2-1, 2-2 and

2-3 that length is a measure on the Borel algebra  $E^1$ .

#### **PROPOSITION 3-5**

If M and N have lengths and  $M \subseteq N$  with M finite length,

then |N-M| = |N| - |M|, in particular  $|N| \ge |M|$ .

It follows from proposition 3-3 that N-M has length.

**PROOF** Since  $N = M \cup (N - M)$  and  $M \cap (N - M) = \phi$ , it follows from proposition 3-4 that  $|N| = |M \cup (N - M)| = |M| + |N - M|$ , so |N - M| = |N| - |M|. In particular  $|N| \ge |M|$ .

#### **PROPOSITION 3-6**

If each of  $M_1$ ,  $M_2$ , ..... has length, then  $\left| \bigcup_{i=1}^{\infty} M_i \right| \leq \sum_{i=1}^{\infty} \left| M_i \right|$ . **PROOF** Let  $B_1 = M_1$ ,  $B_2 = M_2 - M_1$ , .....  $B_n = M_n - (M_1 \cup \dots \cup M_{n-1})$ for  $n \geq 3$ , then  $B'_n$ 's are mutually disjoint and each  $B_n$ has length.

It follows from proposition 3-4 that

 $\begin{vmatrix} \bigcup_{i=1}^{U} M_i \end{vmatrix} = \begin{vmatrix} \bigcup_{i=1}^{U} B_i \end{vmatrix} = \sum_{i=1}^{T} \begin{vmatrix} B_i \end{vmatrix}.$  But it follows from proposition 3-5 that each  $B_i \subset M_i \Rightarrow |B_j| \le |M_i|$ . Therefore  $\begin{vmatrix} \bigcup_{i=1}^{U} M_i \end{vmatrix} = \sum_{i=1}^{T} |B_i| \le \sum_{i=1}^{T} |M_i|$ 

Therefore  $\begin{vmatrix} \tilde{U} \\ i=1 \end{vmatrix} = \sum_{i=1}^{\infty} \begin{vmatrix} B_i \end{vmatrix} \leq \sum_{i=1}^{\infty} \begin{vmatrix} M_i \end{vmatrix}$ . **PROPOSITION** 3-7

If  $M_1 \subset M_2 \subset \cdots$  and each has length, then  $\left| \begin{array}{c} \infty \\ \bigcup \\ i=1 \end{array} \right| M_i = \lim_{n \to \infty} |M_n|$ . If some of M has an infinite length, then we are done.

So we assume each of  $M_1$ ,  $M_2$  ..... has finite length.

**PROOF** Consider 
$$\bigcup_{i=1}^{\infty} M_i = M_1 \cup (M_2 - M_1) \cup (M_3 - M_2) \cup \dots,$$
  
then  $M_1$ ,  $M_2 - M_1$ ,  $M_3 - M_2$ , .... are mutually disjoint and

each has length by proposition 3-3then  $\left| \bigcup_{i=1}^{\infty} M_i \right| = \left| M_1 \right| + \left| M_2 - M_1 \right| + \cdots$  by proposition 3-4, and also  $\begin{vmatrix} \infty \\ 0 \\ i=1 \end{vmatrix}$   $M_i = \begin{vmatrix} M_1 \\ + \end{vmatrix} + \begin{vmatrix} M_2 \\ - \end{vmatrix} + \begin{vmatrix} M_1 \\ + \end{vmatrix} + \cdots$ by proposition 3-5.  $\bigcup_{j=1}^{\infty} M_j$  has length by proposition 3-1and hence  $\left| \bigcup_{i=1}^{\cup} M_i \right| = \lim_{n \to \infty} \left| M_n \right|$ **PROPOSITION 3-**If  $M_1 \supseteq M_2 \supseteq \dots$  and each has length, then  $\left| \bigcap_{i=1}^{\infty} M_i \right| = \lim_{n \to \infty} \left| M_n \right|$ . Let  $B_1 = M_1 - M_2$ ,  $B_2 = M_2 - M_3$ , .... and  $B_n = M_n - M_{n+1}$ . PROOF for  $n \ge 3$ . It follows from proposition 3-3 that each  $B_n$  has length. Also,  $B'_n$ s are mutually disjoint. We claim that  $M_i - \frac{\alpha}{i=1} M_j = \bigcup_{\substack{i=1\\i=1}}^{\infty} B_i$ . In fact,  $M_I - \bigotimes_{i=1}^{\infty} M_i = \bigcup_{i=1}^{\infty} (M_I - M_i) \supseteq (M_I - M_2) \cup$  $(M_2 - M_3) \cup \cdots$  and if  $\mathbf{x} \in \bigcup_{i=1}^{\infty} B_i$ , then  $\mathbf{x} \in B_n$  for some n, and  $\mathbf{x} \in \mathtt{M}_n$  but if  $\mathbf{x} \not\in \mathtt{M}_{n+1}$ , then  $\mathbf{x} \in \mathtt{M}_n$ but if  $x \in \bigcap_{i=1}^{\infty} M_i$ , then  $x \in M_i - \bigcap_{i=1}^{\infty} M_i$ . So  $\bigcup_{i=1}^{\infty} B_i \subset M_i - \bigcap_{i=1}^{\infty} M_i$ . Therefore  $M_i - \bigcap_{i=1}^{\infty} M_i = \bigcup_{i=1}^{\infty} B_i$ . Note that  $\int_{i=1}^{\infty} M_i$  has length, since  $(\int_{i=1}^{\infty} M_i) = (\bigcup_{i=1}^{\infty} M_i^c)^c$ 

- 11-

has length.

It follows from proposition 
$$3-4$$
 that  $\begin{vmatrix} M_{i} - \bigcap_{i=1}^{\infty} M_{j} \end{vmatrix}$   
 $= \begin{vmatrix} \bigcup_{i=1}^{\infty} B_{i} \end{vmatrix} = \sum_{i=1}^{\infty} \begin{vmatrix} B_{i} \end{vmatrix}$ .  
Now  $\begin{vmatrix} M_{i} - \bigcap_{j=1}^{\infty} M_{j} \end{vmatrix} = \begin{vmatrix} M_{i} \end{vmatrix} - \begin{vmatrix} \bigcap_{i=1}^{\infty} M_{j} \end{vmatrix}$  and  $\sum_{i=1}^{\infty} \begin{vmatrix} B_{i} \end{vmatrix} = \begin{vmatrix} M_{i} \end{vmatrix} - \begin{vmatrix} M_{2} \end{vmatrix}$   
 $+ \begin{vmatrix} M_{2} \end{vmatrix} - \begin{vmatrix} M_{3} \end{vmatrix} + \dots + \begin{vmatrix} M_{n} \end{vmatrix} - \begin{vmatrix} M_{n-1} \end{vmatrix} + \dots$ 

by proposition 3-5.

Thus, 
$$|\mathbf{M}_{I}| - |\overset{\mathfrak{T}}{\underset{j=1}{\cap}} \mathbf{M}_{j}| = |\mathbf{M}_{I}| - (\mathbf{M}_{2} - (|\mathbf{M}_{2}| - |\mathbf{M}_{s}|) - \dots - (|\mathbf{M}_{n}| - |\mathbf{M}_{n-1}|) - \dots = |\mathbf{M}_{I}| - \lim_{n \to \infty} |\mathbf{M}_{n}|.$$
  
So  $|\overset{\mathfrak{T}}{\underset{j=1}{\cap}} \mathbf{M}_{j}| = \lim_{n \to \infty} |\mathbf{M}_{n}|$   
We conclude that length satisfies the properties of

JEDU NATIONAL UNIVERSITY LIBRARY

measure defined on the  $\sigma$  - algebra **X** of subsets of x.

### Reference

- "Basic Real and Abstract Analysis"
   by Ramdolph, 1968 by Academic Prcis, Inc.
- 2. "Real Variables"

by Murray R. Spiegel, 1969 by McGraw-Hill, Inc.

3. " The Elements of Integration "

by Robert G. Bartle, 1966 by John wiley and Sons, Inc.

- 4. "Real Analysis" 제주대학교 중앙도서관 by H. L. Royden.
- 5. "Principles of Mathematical Analysis" by Walter Rudin, 1964 by McGraw-Hill, Inc.